[ Beta

1461/C6G

(EN) INSTRUCTIONS FOR USE



https://www.toolsid.com/beta/

[SBeta 1461/c6G

p | LT
VN093 E840 <@—V_N(IJ1 5
F VNOB7 .
E831
< E EB33
J15ld 4] dls
(=] [=]
M10 x 45 %’ 2 2 § 4
M6 x 55 M6 x 55
VN0B6 E834
p— I VNO16
E839 —
E835
] L1 VNO13
E832 o 4




INSTRUCTIONS FOR USE

V)|

TIMING TOOL FOR PEUGEOT/CITROEN DIESEL ENGINES

Parts:
Beta item number OEM item number Description
VN066 2;8;%%0132(}2; 9767.27; Bent timing pin Peugeot-Fiat @ 6
E831 %?2% 0;%?72 47099TM; Bent timing pin Peugeot-Fiat @ 8
VN18 0194.C Timing pin @ 11,5x75 Peugeot
VN067 7019-T; 0153U Bent timing pin Peugeot-Fiat @ 7
VNO015 4200-TH Locking tensioner Peugeot
E839 ?ggi&( 2513%? %E'ZAK; Timing spring 1,5x15 @ 67 Peugeot petrol engines
E840 g;g:ATFgm“? O188F | Fywheel locking too
0188-M; 0189-J; 0132AJ1;
E836 4533-TAC1; 0153G; 5711TA; | Peugeot diesel
7014-TN; 9766,98
VN043 5711-TB; 178B Camshaft locking pin @ 7.9x75
VN042 0194B Timing pin @ 8 x 65 Peugeot diesel
E837 0188-H Pin @ 5,9x60 injection pump Peugeot HDi
E833 0188-D; 7017-TR Bent timing pin Peugeot-Fiat @ 7,9
VN033 + E832 0188-X Spring @15, L7110 mm 28
Bent timing pin @ 7.7 Peugeot HDi
VN013 0188-Q2 Sprocket setting tool @ 2 for new Peugeot engines
VN044 4507-TL; 0132P Flywheel locking tool @ 1.5
VN093 153A; 6012T; 9765,54; D.86 | Flywheel locking tool Renault petrol + diesel
E834 0188-J1 Belt tensioner Peugeot-Citroén HDi DW12
VN016 0188-J2 Peugeot tensioner
o 0188-P; 0188-P2; 7015-T; Crankshaft pulley extractor, Peugeot HDi diesel
0174 Screw TE M6x55 ZB - Screw TE M10x45
E835 0178-E Belt tensioner Peugeot DW10-Toyota
VN039 ‘112270? 976789, 132X | Bt tensioner tud3 - tuds engines
M8 x 80 0188-E Screw TE M8x80
VNO041 4527-TS2
+ + Timing pin @ 7,9x75 M8 Peugeot + Timing pin @ 4,9x70 Peugeot
VNO017 0194-A; 132-AB
VNO040 4527-T81 Timing pin @ 4,9x60 Peugeot diesel




INSTRUCTIONS FOR USE

EW |

TIMING TOOL FOR PEUGEOT/CITROEN DIESEL ENGINES

APPLICATION
Brand Model Engine Engine number
Xsara, Xsara Picasso, DJ5T (TBA/THZ), DJSTED (THX), DKSATE (THY),
C2, 3, C4, C5, C8, DVATD (8HT), DVATD (8HX), DVATD (8HZ), DVATED
Citrogn | @ntia, Evasion, Evasion (8HS), DVBATED4 (9HX), DVBAUTED4 (9HX),
Synergie, Berlingo, Di- DV6BTED4 (9HT), DV6BTED4 (9HW), DV6BUTED4
spatch, Dispatch Jumpy, (9HT), DVGTED4 (9HV), DVETED4 (9HW), DVETED4
Relay, Relay Jumper (9HX), DVETED4 (9HY), DVETED4 (9HZ), DV6TED4B
107, 206, 207, 306, 307, (9HS), DVBTED4B (9HV), DVEUTED4 (9HU),
Peugeot igg :0076’ :0076 g;’”é’ft DW10ATED (RHS), DW10ATED (RHZ), DW10ATED4
oo Bover R‘;nch (RHR), DW10ATED4 (RHW), DW10ATED4/L4 (RHT),
el DW10BTED (RHX), DW10BTED4 (RHF), DW10BTED4
Fiat | Ylysse Scudo, Ducato (RHK), DW10BTED4 (RHL), DW10BTED4 (RHR),
(bezug JTD) DW10CTED4 (RHD), DW10CTED4 (RHE), DW10CTED4
Volvo | 540/V50 (RHH), DW10JATED4 (RHM), DW10JATED4 (RHW),
DW10TD (RHY), DW10UTD (RHV), DW10UTED4 (RHK),
14DHDi 14 | DWI2ATED (4HX), DW12ATED (4HY), DW12ATED
ci. 15D, 16D | (4HZ), DW12ATEDA (4HT), DW12ATED4/L4 (4HW),
HDi 16TDCi, | DW12BTED4 (4HP), DW12BTED4 (4HR), DW12BTED4
19D, 20D HDi, | (4HS), DW12BTED4 (4HT), DW12BTED4B (4HT),
22D HDi 250 | DW12UTED (4HY), DW8 (WJY), DW8IL/W3 (WJ2),
Turbo DW8/L3 (WJZ), DWSB/L4 (WJY), F6JA, F6JB, F6JC,
G8DA, G8DB, G8DD, G8DE, TUD5/L/YIL3 (VJZ), TUD5/
L3, TUD5/Y/L3 (VJZ), TUD5B (VJX), TUD5B (VJX), VJY
(TUD5/Y), VJZ (TUDSILIL3), VJZ (TUD5/LIYIL3), XUD9A,
Ford | Focus, Focus C-Max, XUDOA (D9B), XUD9A (DJY), XUDIA/L (DIB), XUDIA/

Fiesta, Fusion

L3 (DJY), XUDYA/U (DIB/C), XUD9AU (D9B), XUDIBTF
(DHX), XUD9SDZ/Y/L3 (DHW), XUDITA/F (D8BIX),
XUDITE/L (D8A), XUDITE/L3 (DHY), XUDITE/Y (DHY),
XUDQTF (D8B), XUDSTF (DHX), XUDITFIL (D8B),
XUDITF/Y (DHX), XUDQUTF (D8C), XUD9Y (DJY),
XUDAY (DJZ), XUD9Y/DIADJZ




Engine number

OEM item number

0132Q;

0132Qz;
9767.27;
4507-TA

0153N;
0188-Y;
7099TM;
7014TJ;
9767,34

0194.C

7019-T,
0153U

4200-TH

0188-K;
0189K;
132AK;
153AK;
4533-TAD

0134AF;
0134Q;
0188-F;
9004-T;
9044-T

DVATD (8HT), DVATD (8HX), DVATD
(8HZ), DVATED (8HS)

TUDSILIY/L3 (VJZ), TUDSIYIL3 (VJ2),
TUDSB (VJX)

DVBATED4 (9HX), DVBAUTED4 (9HX),
DVBBTED4 (9HT), DVEBTED4 (9HW),
DVBBUTED4 (9HT), DVETED4 (9HV),
DVBTED4 (9HW), DVBTED4 (9HX),
DVBTED4 (9HY), DVETED4 (9HZ),
DVBTED4B (9HS), DVETEDAB (9HV),
DVBUTED4 (9HU)

DW8 (WJY), DWS/LIW3 (WJZ), DWS/L3
(WJZ), DWBBIL4 (WJY)

XUD9A, XUD9A (D9B), XUD9A (DJY),
XUD9AVL (D9B), XUD9A/L3 (DJY),
XUD9A/U (D9B/C), XUDIAU (DIB),
XUD9BTF (DHX), XUDISDZ/Y/L3
(DHW), XUD9TAJF (D8BJX), XUDITE/L
(D8A), XUDITE/L3 (DHY), XUDITE/Y
(DHY), XUDITE/Y (DHY), XUDITF
(D8B), XUDITF (DHX), XUDITF/L (D8B),
XUDTF/Y (DHX), XUDQUTF (D8C),
XUDQY (DJY), XUD9Y (DJZ), XUDSY/
D9A/ DJZ

DW10ATED (RHS), DW10ATED (RHZ),
DWA0ATED4 (RHR), DW10ATED4/L4
(RHT), DW10BTED4 (RHR), DW10TD
(RHY), DW10BTED4 (RHF), DW10BTED4
(RHK), DW10BTED(RHX), DW10BTED4
(RHL)

DW10CTED4 (RHD), DW10CTED4
(RHE), DW10CTED4 (RHH)

DW10UTED4 (RHK)

DW10UTD (RHV)

DW10JATED4 (RHM), DW10JATED4
(RHW)

DWA2ATED (4HX), DW12ATED (4HY),
DWA2ATED (4HZ), DW12ATED4 (4HT)

DW12ATED4/L4 (4HW)

DW12BTED4 (4HP), DW12BTED4 (4HR),
DW12BTED4 (4HS), DW12BTED4 (4HT),
DW12BTED4B (4HT)

DWA12UTED (4HY)

DJST (TBA/THZ), DJSTED (THX),
DK5ATE (THY)

DV4TD (8HT), DVATD (8HX), DVATD
(8HZ), DVATED (8HS)

TUDSIL3, VJY (TUDS/Y), VJZ (TUDS/L/
L3), VJZ (TUD5/LIY/L3)




OEM item number

01320 0153N; 0188-K; | 0134AF;
Engine number ot32qz: | 188-Y; 7019-T: 0189K; 0134Q;
976727 | 7099TM; | 0194C 01530 | 4200-TH | 132AK; | 0188-F;
a507TA | TOM4TY; 153AK; | 9004-T;
9767,34 4533-TAD | 9044-T
DVBATED4 (9HX), DV6BTED4 (9HT),
DV6BTED4 (9HW), DV6TED4 (9HY), .
DV6TED4 (9HZ), DVETED4B (9HV),
DVBUTED4 (9HU)
DW8B/L4 (WJY) . .
DW10ATED (RHS), DW10ATED (RHZ), . .
DWA10TD (RHY)
DWA10ATED4/L4 (RHT), DW10JATED4 R .
(RHW)
DW10BTED4 (RHF), DW10BTED4 (RHR) ° .
DW10ATED4 (RHW) . .
DW10CTED4 (RHE), DW10CTED4 (RHH) ° .
DW10UTD (RHV) . .
DW12UTED (4HY) . . .
DJ5TED (THX) .
F6JA, F6JB, F6JC, G8DA, G8DB, G8DD, .
G8DE
OEM item number
Enci b 0188-M; 0189-J;
ngine number 0132AJ1; 4533-TAC1; | 5711-TB; 0188-D;
0153G; 5711-TA; 7014- | 178B 01948 | 0188H | 7pp77p | /| 0188X

TN; 9766,98

DVATD (8HT), DVATD (8HX), DVATD
(8HZ), DVATED (8HS)

DVBATED4 (9HX), DVEAUTED4 (9HX),
DVBBTED4 (9HT), DVEBTED4 (9HW),
DV6BUTED4 (9HT), DVGTED4 (9HV),
DVBTED4 (9HW), DVETED4 (9HX),
DVBTED4 (9HY), DVGTED4 (9HZ),
DV6TED4B (9HS), DVGTED4B (9HV),
DVBUTED4 (9HU)

DW8 (WJY), DWS/LWS3 (WJZ), DW8/L3
(WJZ), DWBB/L4 (WJY)

DW10ATED (RHS), DW10ATED (RHZ),
DWA10ATED4 (RHR), DW10ATED4/

L4 (RHT), DW10BTED4 (RHR),
DWA0TD (RHY), DW10BTED4 (RHF),
DW10BTED4 (RHK), DW10BTED(RHX),
DW10BTED4 (RHL)

DW10CTED4 (RHD), DW10CTED4 (RHE),
DWA10CTED4 (RHH)

DW10UTED4 (RHK)

DW10UTD (RHV)

DW10JATED4 (RHM), DW10JATED4 (RHW)

DW12ATED (4HX), DW12ATED (4HY),
DW12ATED (4HZ), DW12ATED4 (4HT)




Engine number

OEM item number

0188-M; 0189-J;
0132AJ1; 4533-TAC1;
0153G; 5711-TA; 7014-
TN; 9766,98

5711-TB;
178B

0194B

0188-H

0188-D;
7017-TR

0188-X

DW12ATEDA4/L4 (4HW)

DW12BTED4 (4HP), DW12BTED4
(4HR), DW12BTED4 (4HS),
DWA12BTED4 (4HT), DW12BTED4B
(4HT)

DW12UTED (4HY)

DJ5T (TSAITHZ), DJSTED (THX),
DKBATE (THY)

DVA4TD (8HT), DVATD (8HX), DV4TD
(8HZ), DVATED (8HS)

DVBATED4 (9HX), DVBBTED4 (9HT),
DV6BTED4 (9HW), DVETED4 (9HY),
DV6TED4 (9HZ), DVETED4B (9HV),
DV6UTED4 (9HU)

DW8B/L4 (WJY)

DWA10ATED (RHS), DW10ATED (RHZ),
DWA0TD (RHY)

DW10ATEDA4/L4 (RHT), DW10JATED4
(RHW)

DW10BTED4 (RHF), DW10BTED4
(RHR)

DW10ATED4 (RHW)

DW10CTED4 (RHE), DW10CTED4 (RHH)

DW10UTD (RHV)

DW12UTED (4HY)

DJ5TED (THX)

F6JA, F6JB, F6JC, G8DA, G8DB,
G8DD, G8DE




Engine number

OEM item number

0188-Q2

4507-TL,;
0132P

153A;
6012T;
9765,54;
D.86

0188-J1

0188-J2

0188-P; 0188-P2;
7015-T; 0174

TUDSIL/YIL3 (VJZ), TUDS/YIL3 (VJZ),
TUD5B (VJX)

DW8 (WJY), DWS/L/W3 (WJZ), DW8/L3
(WJZ), DWSB/LA (WJY)

XUD9A, XUD9A (D9B), XUD9A (DJY),
XUD9AIL (D9B), XUD9AIL3 (DJY),
XUD9A/U (D9BIC), XUD9AU (D9B),
XUD9BTF (DHX), XUD9SDZ/Y/L3
(DHW), XUDITA/F (D8BIX), XUDITE/L
(D8A), XUDITE/L3 (DHY), XUDITE/Y
(DHY), XUD9TE/Y (DHY), XUDITF
(D8B), XUDITF (DHX), XUD9TFIL (D8B),
XUDITF/Y (DHX), XUDQUTF (DSC),
XUDY (DJY), XUDSY (DJZ), XUD9Y/
DIAIDJZ

DWA0ATED (RHS), DW10ATED (RHZ),
DWA10ATED4 (RHR), DW10ATED4/

L4 (RHT), DW10BTED4 (RHR),
DWA10TD (RHY), DW10BTED4 (RHF),
DW10BTED4 (RHK), DW10BTED(RHX),
DW10BTED4 (RHL)

DWA10CTED4 (RHD), DW10CTED4
(RHE), DW10CTED4 (RHH)

DW10UTED4 (RHK)

DW10UTD (RHV)

DWA10JATED4 (RHM), DW10JATED4
(RHW)

DW12ATED (4HX), DW12ATED (4HY),
DW12ATED (4HZ), DW12ATED4 (4HT)

DW12ATEDA4/L4 (4HW)

DW12UTED (4HY)

TUDS/L3, VJY (TUDSYY), VJZ (TUDS/L/
L3), VJZ (TUDS/L/Y/L3)

DW8B/L4 (WJY)

DWA10ATED (RHS), DW10ATED (RHZ),
DWA0TD (RHY)

DW10ATEDA4/L4 (RHT), DW10JATED4
(RHW)

DW10BTED4 (RHF), DW10BTED4 (RHR)

DW10ATED4 (RHW)

DW10CTED4 (RHE), DW10CTED4 (RHH)

DW10UTD (RHV)

DW12UTED (4HY)




Engine number

OEM item number

0178-E

4507-TJ;
9767,89;
132-X; 188-Q1

0188-E

0194-A;
132-AB

4527-TS2

4527-TS1

DVATD (8HT), DVATD (8HX), DVATD
(8HZ), DVATED (8HS)

TUDS/L/YIL3 (VJZ), TUDS/YIL3 (VJZ),
TUD5B (VJX)

DV6ATED4 (9HX), DVBAUTED4 (9HX),
DV6BTED4 (9HT), DV6BTED4 (9HW),
DV6BUTED4 (9HT), DVETED4 (9HV),
DV6TED4 (9HW), DVETED4 (9HX),
DV6TED4 (9HY), DV6TED4 (9HZ),
DV6TED4B (9HS), DVETED4B (9HV),
DV6UTED4 (9HU)

DW8 (WJY), DWS/L/W3 (WJZ), DW8/L3
(WJZ), DW8B/LA (WJY)

XUD9A, XUD9A (D9B), XUD9A (DJY),
XUD9AIL (D9B), XUD9AIL3 (DJY),
XUD9A/U (D9BIC), XUD9AU (D9B),
XUD9BTF (DHX), XUD9SDZ/Y/L3
(DHW), XUD9TA/F (D8B/X), XUDITEIL
(D8A), XUDITE/L3 (DHY), XUDITE/Y
(DHY), XUDSTE/Y (DHY), XUDITF
(D8B), XUDITF (DHX), XUDITFIL (D8B),
XUDITF/Y (DHX), XUDUTF (D8C),
XUDY (DJY), XUDSY (DJZ), XUDAY/
DIAIDIZ

DW10CTED4 (RHD), DW10CTED4
(RHE), DW10CTED4 (RHH)

DW10UTED4 (RHK)

DW12BTED4 (4HP), DW12BTED4
(4HR),DW12BTED4 (4HS), DW12BTED4
(4HT), DW12BTED4B (4HT)

DJ5T (TSAITHZ), DJSTED (THX),
DK5ATE (THY)

DVATD (8HT), DVATD (8HX), DVATD
(8HZ), DVATED (8HS)

TUDSI/L3, VJY (TUDSYY), VJZ (TUDSIL/
L3), VJZ (TUDS/L/YIL3)

DV6ATED4 (9HX), DVBBTED4 (9HT),
DV6BTED4 (9HW), DVETED4 (9HY),
DV6TED4 (9HZ), DVBTED4B (9HV),
DVBUTED4 (9HU)

DW8B/L4 (WJY)

DWA10ATED4/L4 (RHT), DW10JATED4
(RHW)

DW10BTED4 (RHF), DW10BTED4 (RHR)

DW10CTED4 (RHE), DW10CTED4 (RHH)

DJSTED (THX)

F6JA, F6JB, F6JC, G8DA, G8DB, G8DD,
G8DE




Safety Precautions - Please read

» Disconnect the battery earth leads (check radio code is available)

» Remove spark or glow plugs to make the engine turn easier

» Do not use cleaning fluids on belts, sprockets or rollers

» Always make a note of the route of the auxiliary drive belt before removal

» Turn the engine in the normal direction (clockwise unless stated otherwise)

» Do not turn the camshaft, crankshaft or diesel injection pump once the timing chain has
been removed (unless specifically stated)

» Do not use the timing chain to lock the engine when slackening or tightening crankshaft
pulley bolts

» Do not turn the crankshaft or camshaft when the timing belt/chain has been removed

» Mark the direction of the chain before removing

« Itis always recommended to turn the engine slowly, by hand and to re-check the camshaft
and crankshaft timing positions.

» Crankshafts and Camshafts may only be turned with the chain drive mechanism fully instal
led.

» Do not turn crankshaft via camshaft or other gears

» Check the diesel injection pump timing after replacing the chain

» Observe all tightening torques

» Always refer to the vehicle manufacturer’s service manual or a suitable proprietary instruc
tion book

* Incorrect or out of phase engine timing can result in damage to the valves

« Itis always recommended to turn the engine slowly, by hand, and to re-check the camshaft
and crankshafttiming positions

Check out the collection of automotive tools we offer.


https://www.toolsid.com/automotive-tools.html

